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2MnO,” + 6C, 0,2~ + 16H* — +10CO, + 8H,0

MnO,~ x(1)+(-2)@4)=-1 x=+7
C,02  y2)+(-2)d)=-2 y=+3
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2MnO, + 5H,0, + 6H* —
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2MnO,~ + 5C,0,2" + 16H* — 2Mn2* + 10CO, + 8H,0

« W(Qg<¢ sodium oxalates =5 100.0 M-Edoc = == O
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134 x 0.100

¢« 10.0 ml¢] sodium oxalate & S KMnO, &d o=z AA3S u
Vi 7 A2 E|QUACFH KMnO, O E=sL =

2 10.00 M,
M=%V,




8 o
10 &
70
KIr =
= o
o K

jofl
i

20
K AI
i
= K|0

(@)
S
L =T
=
K¥ oo
ol <kl
@) A d
oo i
Hd o3
T
ol ™HE
<1 %3
H oo

n ©

al

L
S

Sert

=cr230]
=
=

2.50m¢E |3l 100me Azt
50.0m@2f 1 :1 H2SO4 5.00me




2MnO," + 5H,0, + 6H* — 2Mn?* + 50, + 8H,0

23 #2354 A A 500mE A A=Y KMnOs V,
AREHAYH HAs A EEEM )T
w5 MV,
2= 2 500

X = 10HH x M.Hzﬂz . 34.14g 1ml 1L

mol 1.01g 1000mL
34.14M,
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X X100=x%






